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1. (5 +5 +3=13 pts) (a) Write an equation of the plane P that contains the line of inter-
section of the planes r = 0 and 2z = 0, and passing through the point (1,1,1).
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(b) Write an equation of tie line £ which is parallel to the plane P and passing through

(2.1.1). |
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(c) Find the distance between the plane P and the line £.
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2. (5 +5 +5=15 pts) Determine whether or not the following limits exist. If they exist, then

find the limit. Explain yvour answer.
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direction for which the function g(x, v,
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b. Find an equation of the tangent plane to the surface z = f{z,y) at the point

c. Using the point in part (b) approximate f(1.1, —0.2).
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18 pts) Find the point on the plane x

a. using a geometric argument. (No calculus)
¢. using the method of Lagrange multipliers.
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a. Evaluate / / e
- f! < ?

b. Write the iterated double integrals which compute the area of the
vertices (0,0), (1.3), and (2.1).

(1} dydz order

c. Find the volume of the solid that lies between the cylinders 2° +9° =1, z*+¢y* =4

and bounded by the surfaces z =0, z =4 — (22 +¢%)




